' 1955-56 Ford Car Body to Frame Mounting Kit

Each kit contains:

AMOUNT

RO GO N CO I —— — b o B O O
B~ o o

3/8" x 2" bolts

3/8" x 2 V4" bolts
3/8" x 3 A" bolts
3/87 x 5 % studs
716" x 2 A" stids
round star washers

round pads
square pads
clips

large flat washers
3/8" -16 lack nuts
7/16"-14 lock nuts

1" flat washers

PART

7!16" ¥ 2% stud

®

®

square pad

1" flat washer
7/16" nut

387 x 24" bolt
round star washer
round pad

square pad

large flat washer
3/87 nut

3/8” x 2 14" bolt
round star washer
round pad

square pad

clip

378" x 34" bolt
round star washer
round pad

2 square pads
large flat washer
3/8" nut

3/8" x 27 bolt
round star washer
round pad

square pad

@ 3/8" x 2" bolt

round star washer
round pad

square pad

clip

@ 38" x 5 %" stud

round pad
square pad

large flat washer
378" nuts

@ 38" x 214" bolt

rourd star washer
round pad

square pad

clip

[ 3]

@ 3/8" % 2" bolt
round star washer
round pad
2 square pads

@ 378" x 3 %" bolt

round star washer
round pad

square pad

clip




